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_> SolGral = y(x) =C| + Cyx + Cy-x--2 + Cyrexp(x) + Cs5-exp(2 x) + Cycos(2x) +C;
-sin(2 x)
SolGral = y(x) =C, + Cyx + C;5* + C,¢" + Cg ™ + C, cos(2 x) + C, sin(2 x) 1)
[ > Sistema = SolGral, diff (SolGral, x), diff (SolGral, x$2), diff (SolGral, x$3), diff (SolGral, x
$4), diff (SolGral, x$5), diff (SolGral, x$6) : Sistema,; Sistema,; Sistemas; Sistema,;
Sistemas; Sistemag; Sistema,

Y(x) =C, + Cyx + C;5° + C,¢" + Cs ¢ + C, cos(2 x) + C,sin(2 x)

%y(x) =C,+2Cx+C, e +2Cse™ =2 Cysin(2x) +2 C, cos(2 x)
2
% y(x) =2Cy+ C e +4 C, " —4 C,cos(2x) —4 C,sin(2 x)
d3 X 2x .
Ey(x) =C,e +8Cs¢e" +8(Cysin(2x) —8 C,cos(2x)
d* 2
@ y(x)=C e +16 C5e¢”" + 16 C4cos(2 x) + 16 C, sin(2 x)
4 2
ﬁ y(x)=C e +32Cye”" —32 Cgsin(2x) +32 C,cos(2x)
d6 2x

5 y(x)=C, ¢ + 64 Cse”” —64 Cycos(2x) —64 C,sin(2 x) 2)

&

> Parametro = simpliﬁ/(solve( {Sistema}, {Cl, C,, G5, Cy, Cs, G, C7}) ) : Parametro;
Parametro,; Parametros; Parametroy, Parametros, Parametrog, Parametro,;
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C3=E ﬁyu) —E E}’(X) +§ _4y(x) +3 g)’(x) vy §y(x)
(e & d° d* x
C4:—? (gy(x) -8 [ﬁy(x)) -2 (gy()ﬂ] +4 (_4J/(X)j e
1 ¢’ ¢’ da* d° 2
C5=6—4 [—[gy(x)) —4 (ﬁy(x)J +4 [yy(x)) +§y(x)) c
3 & 3 d’ !
Cy= %cos(zx) [ﬁy(x)j —%COS(ZX) (ﬁy(ﬂ] +ECOS(2’C) [Ty(x)j
6 5
- (%ymj cos(2.x) = 5o sin(2) [%ymj
1 d3 4 3 d6
0 sin(2 x) (Ey(x)] + 20 sin(2 x) (—4 (x)] 320 (—6y( )J sin(2 x)
3 & ’ y
Cr= - 350 Sin(2x) [ﬁy(x)) ~ 5o Sin(2x) [_3y( )) LTI (_4y(x)J
5 3 4
—|-—31210 cos(2 x) (%y(x)] +$ cos(2 x) [d—3y(x)) ~ 3o os(2x) (_4y(x)j
6 6
—ﬁ (%y(x)j sin(2 x) —% (%Y( )J cos(2 x)

=> Ecuacionlnicial := Simplify( eval ( subs( = rhs(Paramel‘ro1 ) , Gy = rhs(Parametroz) , Gy
=rhs ( Parametro, ) 4 =rhs (Pammetr04) Cs=rhs ( Parametros ) , Cg
= rhs(Parametro6) rhs( arametro7) , diff (SolGral, x§7) ) ) )

7 3 5
Ecuacionlnicial := %y(x) =3 ( ((11x6 y(x)] -8 [é y(X)) —6 [d_s y(x))

4
+ 12 [ﬁy(x))

_> EcuacionFinal := lhs (Ecuacionlnicial) — rhs(EcuaczonImczal =

o d ;
EcuacionFinal .= yﬂx) —3 [ﬁy(x)) 8 [ J (; J
4
—12 [ﬁy(x))ﬂ)

>

(€))

(C))

(C))



